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w22 B SEAH-BR BEIRALE L
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DBF-Gueny 12 S 4—p—d DBF-HR16-7Y12A ﬂgflfz o 2,55 0013 0.018 - -
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10-15+11E—F (g/km) e
#2423 B SEAH 2 BEIRALL L

co NMHC NOXx S e PM
=%-CBA—Z27A =JINS M—4G158CBA 1??%}‘%8% 1.00 0. 025 0. 025 - -
=%-GBD—H42V =% M—3G837GBD 17@%53?,% 3. 50 0. 025 0. 025 - -
=%-GBD—H47V =% M—3G837GBD 1??%}‘%8% 3. 50 0. 025 0. 025 - -
=%-CBA—UB1W 2R SR M—3G832CBA 1??%}‘%8% 1.15 0. 025 0. 025 - -
=%-CBA—U62W 2R SR M—3G832CBA 1??%}‘%8% 1.15 0. 025 0. 025 - -
=%-DBA—2Z21A Lk M—4A901DBA 17{§§f\7ﬂ5/% 1. 00 0.013 0.013 - -
=%-DBA—2Z23A Lk M—4A911DBA 17{§§f\7ﬂ5/% 1. 00 0.013 0.013 - -
=%-CBA—Z27A Lk M—4G154CBA 1??%}‘%8% 1.00 0. 025 0. 025 - - A—RitE
=%-DBA—Z23W Lk M—4A911DBA 17{§§f\7ﬂ5/% 1. 00 0.013 0.013 - -
=%.-CBA-Z27W Lk M—4G154CBA 1??%}‘%8% 1.00 0. 025 0. 025 - - B—RitE
=%-DBA—CS2A S — M—4G151DBA 17{§§f\7ﬂ5/% 1. 00 0.013 0.013 - -
=%-CBA—CS6A Sy 4— M—4G941CBA 1??%}‘%8% 1.00 0. 025 0. 025 - -
=%-DBA—CS2W S — M—4G151DBA 17{§§f\7ﬂ5/% 1. 00 0.013 0.013 - -
=%-DBE—CS2V S — M—4G156DBE 17{§§f\7ﬂ5/% 1. 00 0.013 0.013 - -
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=%-DBA—NA4W 55U 4R M—4G695DBA 17{§§f\7€% 1.15 0.013 0.013 - -
=%-DBA—CW5W 7S A — M—4B121DBA 17{§§f\7€% 1. 00 0.013 0.013 - -
=%-DBA—Z22A Lk M—4A903DBA 17{§§f\7€% 1. 00 0.013 0.013 - -
=%-DBA—Z24A Lk M—4A913DBA 17{§§f\7€% 1. 00 0.013 0.013 - -
=%-DBA—Z24W Lk M—4A913DBA 17{§§f\7€% 1. 00 0.013 0.013 - -
=%-CBA—HATW 74 M—3B201CBA 1??%}‘%8% 1.00 0. 025 0. 025 - - 2—RitE
=%.CBA—CS5AZ S 4— M—4G936CBA 1??%}‘%8% 1.00 0. 025 0. 025 - -
=#%-CBA—Z27AG ajLk M—4G154CBA 171;&%[%8% 1. 00 0. 025 0. 025 — - A—RftE
=%-CBA—Z27WG Lk M—4G154CBA 171;&%[%8% 1. 00 0. 025 0. 025 - - A—R{FE
=%-DBA—H82W PO M—3G834DBA 17{§§f\7€% 1.00 0.013 0.013 - -
=%-CBA—H82W eK-SPORT M—3G835CBA 1??%}‘%8% 1.00 0. 025 0. 025 - - A—RitE
=%-CBA—V83W Kozm M—6G725CBA 1??%}‘%8% 1.00 0. 025 0. 025 - -
=%-CBA—VO3W Kozm M—6G725CBA 1??%}‘%8% 1.00 0. 025 0. 025 - -
=%-CBA—V87W Kozm M—6G752CBA 1??%}‘%8% 1.00 0. 025 0. 025 - -
=%-CBA—VO7W Kozm M—6G752CBA 1??%}‘%8% 1.00 0. 025 0. 025 - -
=%-HBD—H42V 3= M—3G836HBD 17{§§f\7€% 3. 50 0.013 0.013 - -
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co NMHC NOx S PM
=%-HBD—H47V 3= M—3G836HBD 17{§§f\7€% 3. 50 0.013 0.013 - -
=%-DBA—HATW 74 M—3B202DBA 17{§§f\7€% 1.00 0.013 0.013 - -
=%-GBD—U61T 3=%47 M—3G838GBD 1??%}‘%8% 3. 50 0. 025 0. 025 - -
=%-GBD—U61TP 3=%47 M—3G838GBD 1??%}‘%8% 3. 50 0. 025 0. 025 - -
=%-GBD—U62T 3=%47 M—3G838GBD 1??%}‘%8% 3. 50 0. 025 0. 025 - -
=%-GBD—U62TP 3=%47 M—3G838GBD 1??%}‘%8% 3. 50 0. 025 0. 025 - -
=%-GBD—U61V 3=%47 M—3G838GBD 1??%}‘%8% 3. 50 0. 025 0. 025 - -
=%-GBD—U62V 3=%47 M—3G838GBD 1??%}‘%8% 3. 50 0. 025 0. 025 - -
=%-CBA—U61W YU RyH R M—3G831CBA 1??%}‘%8% 1.15 0. 025 0. 025 - -
=%-CBA—U62W YU RyS R M—3G831CBA 1??%}‘%8% 1.15 0. 025 0. 025 - -

=%-DBA—CW6W TYIRSUE— M—6B311DBA 17{§§f\7€% 1.00 0.013 0.013

-DBA—CV5W Fuh M—4B121DBA 17{§§f\7€% 1.00 0.013 0.013 - -
%-DBA—CY4A o5y M—4B111DBA 17{§§f\7€% 1.00 0.013 0.013 - -
=%-CBA—CZ4A |5v#—IRya—tar| M—4B112CBA 1??%}‘%8% 1.00 0. 025 0. 025 - -
=%-CBA—CY4A x5y M—4B113CBA 1??%;%8% 1. 00 0. 025 0. 025 - -
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BHH-BK B4 HEL-BK DEICRAHESE I L
co NMHC NOx el PM
P 0,
%-DBA—H82A T M—3G834DBA 1??%}‘%?" .00 0.013 0.013 - -
Y,
#5009 .
=%-CBA—H82A Ry M—3G835CBA 1??%}‘%8" . 00 0. 025 0. 025 - - a—RitE
. P 0,
=%-DBA—CX4A Fv5y M—4B111DBA 1??%}‘%?" .00 0.013 0.013 - -
4
) #5500 .
=%-.-CBA—CX4A Fv5y M—4B113CBA 1??%}‘%8" .00 0. 025 0. 025 - - a—RftE
Y,
=% = T vy 175 R HET5% _ _
DBE-CVAY12 SrY—h—d DBE-CR12-7Y12A ERLAL 1.15 0.013 0.013
=% = T vy 175 R HET5% _ _
DBF-CVY12 F¥Y—h—d DBF-HR15-7Y12A ERLAIL 2.55 0013 0018
=% = T vy 175 R #50% _ _
CBF-CVJY12 SrY—h—d CBE-MR18-7Y12A ERLAL 2.55 0.025 0.035




